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You are obligated to give him, etc. — 9932 Y% 309% 1INR 2997

OVERVIEW

X211 ruled that if after the 72°13, the 72 told the thief 17 30 X¥ and he was 7211 02w
there is no '™ '7 21’1, since he now becomes a 1213 (for being 121 12W), and a 171
is 7o from 'M '7. However if the 7" 2 merely told him 17 1n0°% 7nX 2°°17, and then he
was 797 1w he is ' '7 20, for 19 10°% AR 270 is not the conclusive 17 pos.! Our
MBoIN reconciles our X3 with another seemingly contradictory Xna.

V) 1N RS 99RO 1Y 157 9195 1N XD 1T 1500 NNN 29NT YHIYnN
It seems from X2 that ¥ %% 70K 2957 is not a final ruling, until 72 states X3
™ 0 —

mooIn anticipates a difficulty:
- >11¥4Y SNWA NNN ON 1217 99203 (9 nonn M1 awl 3,091 PITNIVT NP P992 9INRT XM

And regarding this which the Xn»12 stated in the first P99 of °97710 nNoon; ‘once

the ruling was concluded, one is not permitted to ‘break’ (i.e. compromise)’ -
- ‘2550 NNN 93199 INDT ANN Y 127 999) 239 22N V991

And 17 X 777 27 explained, what is considered 3°7 9123; when the 0°17 say,

‘you, so and so, are innocent; you, so and so, are guilty’ it appears from that X123
that the 77 7m3 is by 12 1% 7nX 21 and not (only) by 19 Jn X¥.> Moo responds:
- SNOTA NN MYONY NOR NMN9NT 1910 2PV 113 YNN 17T 1) 91 N9T 23 YY 9N

Even though that 2>n 70X 1799 is not actually the 397 923 (until they say 17 10 X¥),
nevertheless since the ruling is near to being concluded, it is forbidden to

mislead the innocent one.
$[29N YNHNRN MY N, RYINN N1a Mavin 1”91]

! Since it is not the 1°7 773 therefore if the 213 did not return the animal then, but rather was 1511 11210, he is still not

considered a 7713 and is 2»n for the 77°om amPAv.

* See ‘Overview’ and footnote # 1.

? Before the conclusion of the n">7 the 2°3°7 can suggest a ¥1¥°2 (a compromise) to which both parties agree;

however once the verdict was arrived at, 7"°2 must carry out the verdict and may not suggest a compromise.

* sy there (1 7"7) interprets it there as translated here. Mo0In there (7M1 7"7) interprets it to mean that the 17

were ready to say 121 21 70X °1799, but not that they already said it. At this point they cannot suggest to the litigants

to make a compromise, since they already know the ruling. no01n there explains that according to >"w after the

0°1>7 said 191 IR "N99, they cannot tell the litigants let us consider a 77w», for perhaps we erred in our judgement.

> See “Thinking it over’.

® By suggesting to make a compromise at this point, where they already indicated which way the final ruling will be

(°R2T INX 1179 221 0K N199), this puts undue pressure on the X537 who is concerned that perhaps the 0°1>7 will change

their view (which most probably they would not), and will cause him to relinquish the gains he achieved at the n">7.
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SUMMARY
The actual 17 3 is 12 I0 KX (not 17 11°7 70X 271), nevertheless once 7" stated 1199

X7 7INX, no compromise may be introduced.

THINKING IT OVER
Can we differentiate’ between 1 Jn°% nX 21 (which is not 17 7m3), and 1199 WX

21 21 AnX (which may be considered 17 )28

7 See footnote # 5.

8 See TN WM XN # 9.
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